
Click the highlighted part number to open a link to that 
part number on the Campbelltown Hobbies Website

MSned
Highlight



ITEM FRONT CLIP DESCRIPTION PART NUMBER OTY ITEM FRONT CLIP DESCRIPTION PART NUMBER QTY 
1 Front Gear Box 87023 l 46 Susoension Arm Turnbuckle M5x31 87330 2 

2 Rear Gear Box 87023 1 47 Servo Saver Washer 3.1 x9x 1 87056 2 

3 Front Lower Ann 870241 2 48 C-Hub Washer 4.l x8xl .2 36805 4 

4 Front Bumper 87064 1 49 Shim 8. lx l0x0.l HB-397 2 

5 Front Lower Suspension Ann Holder 87030 1 50 Alum Collar 87044S 2 

6 Front Uooer Arm 87302 2 51 Wheel Hex Nut 84022H 2 

7 Front Uooer Ann Ball End 87302 2 52 Wheel Hub 87027 2 

8 Front C-Hub Left (20") 87303 1 53 Bearim? 8x l 6x5 84076 6 

9 Front C-Hub Ri1>ht (20
°

) 87303 l 54 Shock Ball Stud 5.8mm 88094 2 

10 C-Hub Bushing 87032-1 4 55 Ball 6.8mm 30004 4 

11 Front Bodv Post 87065 1 56 Ball Flanged 6.8mm 30003 4 

12 Servo Saver Post 87059 2 57 Ball 7.8mm 30001 2 

13 Servo Saver Arm Left 87057 1 58 Ball Flamred 7.8mm 30005 2 

14 Servo Saver Bellcrank 87057 1 59 Pin 2.5x 16.8 87027-1 2 

15 Servo Saver Ann Right 87057 1 60 Set Screw M3x3 38303 2 

16 Servo Saver Spring 87062 1 61 Set Screw M3x l 2 38312 2 

17 Servo Saver Alum Tube 87062 1 62 Set Screw M5x4 38504 3 

18 Servo Saver Bushing 87060 4 63 Set Screw M5x 10 38510 2 

19 Servo Saver Retainer 87062 1 64 NutM3 39004 2 

20 Steering Plate 87058B 1 65 Nvlon NutM3 39008 10 

21 Steering Plate Bushing 87056 2 66 Nvlon NutM4 39009 2 

22 Steering Plate Hex Screw 87056 2 67 B/H Screw M3x8 33308 1 

23 Ball End 6.8mm/L 23.90mm 87055 4 68 B/H Shoulder Screw M3x38 87555 2 
24 Universal Axle Part 87354 2 69 B/H Shoulder Screw M3x40 87555 2 

25 Universal Axle Part 87354 2 70 B/H Screw M4x10 33410 4 

26 Universal Axle Part 87354 2 71 B/H Screw M4x12 33412 4 

27 Universal Axle Part 87354 2 72 B/H Shoulder Screw M4x66 87554 2 

28 Universal Axle Part 87354 2 73 F/H Screw M3x10 31310 1 

29 Universal Ax le Part 87354 2 74 F/H Screw M3x 15 31315 8 

30 Front Anti-Roll Bar 87329-2 1 75 Cap Screw M3x8 32308 2 

31 Ball Collar 6.8mm 87329-4 2 76 Cap Screw M3x14 32314 3 

32 Ball End 6.8mm/L 16.75mm 87329-4 4 77 Cao Screw M3x20 32320 2 

33 Ball End 7.8mm/L 28mm 87072 2 78 Cao Shoulder Screw M3x22 32322 4 

34 Ball End 6.8mm/L 23.75mm 87087 2 79 Cao Screw M4x12 32412 4 

35 Steering Knuckle Left 87032 1 80 Cao Screw M4x15 32415 6 
36 Steering Knuckle Right 87032 1 81 Cao Shoulder Screw M4x40 32440 2 

37 Outdrive Cuo 87021 1 82 Front/Rear Differential - 1 

38 Differential Pinion Gear 13T 87028 1 83 

39 Front Rear Top & Lower Arm Holder 87030 1 84 

40 Front Front Lower Arm Holder 87029B 1 85 

41 Front Alum Top Plate 87071B 1 86 

42 Front Shock Tower 87601 1 87 

43 Front Chassis Stiffener Rod 87063N 1 88 

44 Turnbuckle M3x26 87561 1 89 

45 Turnbuckle M4x45 87536 2 90 

FRONT CLIP 

2 

https://www.campbelltownhobbies.com.au/gear-box-hyper-7
https://www.campbelltownhobbies.com.au/gear-box-hyper-7
https://www.campbelltownhobbies.com.au/gear-box-hyper-7
https://www.campbelltownhobbies.com.au/gear-box-hyper-7
https://www.campbelltownhobbies.com.au/front-lower-arm-hyper-7
https://www.campbelltownhobbies.com.au/front-lower-arm-hyper-7
https://www.campbelltownhobbies.com.au/bumper-set-hyper-7
https://www.campbelltownhobbies.com.au/bumper-set-hyper-7
https://www.campbelltownhobbies.com.au/front-suspension-arm-holder-set-hyper-7
https://www.campbelltownhobbies.com.au/front-suspension-arm-holder-set-hyper-7
https://www.campbelltownhobbies.com.au/front-upper-arm
https://www.campbelltownhobbies.com.au/front-upper-arm
https://www.campbelltownhobbies.com.au/front-upper-arm
https://www.campbelltownhobbies.com.au/front-upper-arm
https://www.campbelltownhobbies.com.au/front-c-hub-set
https://www.campbelltownhobbies.com.au/front-c-hub-set
https://www.campbelltownhobbies.com.au/front-c-hub-set
https://www.campbelltownhobbies.com.au/c-hub-bushing-hyper-7
https://www.campbelltownhobbies.com.au/c-hub-bushing-hyper-7
https://www.campbelltownhobbies.com.au/body-post-hyper-7
https://www.campbelltownhobbies.com.au/body-post-hyper-7
https://www.campbelltownhobbies.com.au/servo-saver-post-hyper-7
https://www.campbelltownhobbies.com.au/servo-saver-post-hyper-7
https://www.campbelltownhobbies.com.au/servo-saver-arm-set-hyper-7
https://www.campbelltownhobbies.com.au/servo-saver-arm-set-hyper-7
https://www.campbelltownhobbies.com.au/servo-saver-arm-set-hyper-7
https://www.campbelltownhobbies.com.au/servo-saver-arm-set-hyper-7
https://www.campbelltownhobbies.com.au/servo-saver-alum-tube-hyper-7
https://www.campbelltownhobbies.com.au/servo-saver-alum-tube-hyper-7
https://www.campbelltownhobbies.com.au/servo-saver-alum-tube-hyper-7
https://www.campbelltownhobbies.com.au/servo-saver-alum-tube-hyper-7
https://www.campbelltownhobbies.com.au/servo-saver-alum-tube-hyper-7
https://www.campbelltownhobbies.com.au/servo-saver-bushing-hyper-7
https://www.campbelltownhobbies.com.au/servo-saver-bushing-hyper-7
https://www.campbelltownhobbies.com.au/servo-saver-bushing-hyper-7
https://www.campbelltownhobbies.com.au/servo-saver-bushing-hyper-7
https://www.campbelltownhobbies.com.au/steering-plate-link-black-hyper-7
https://www.campbelltownhobbies.com.au/steering-plate-link-black-hyper-7
https://www.campbelltownhobbies.com.au/steering-plate-screw-and-bushing-set
https://www.campbelltownhobbies.com.au/steering-plate-screw-and-bushing-set
https://www.campbelltownhobbies.com.au/steering-plate-screw-and-bushing-set
https://www.campbelltownhobbies.com.au/steering-plate-screw-and-bushing-set
https://www.campbelltownhobbies.com.au/steering-plate-screw-and-bushing-set
https://www.campbelltownhobbies.com.au/steering-turnbuckle-ball-end-hyper-7
https://www.campbelltownhobbies.com.au/steering-turnbuckle-ball-end-hyper-7
https://www.campbelltownhobbies.com.au/universal-cvd
https://www.campbelltownhobbies.com.au/universal-cvd
https://www.campbelltownhobbies.com.au/universal-cvd
https://www.campbelltownhobbies.com.au/universal-cvd
https://www.campbelltownhobbies.com.au/universal-cvd
https://www.campbelltownhobbies.com.au/universal-cvd
https://www.campbelltownhobbies.com.au/universal-cvd
https://www.campbelltownhobbies.com.au/front-anti-roll-bar
https://www.campbelltownhobbies.com.au/front-anti-roll-bar
https://www.campbelltownhobbies.com.au/anti-roll-bar-linakge-set
https://www.campbelltownhobbies.com.au/anti-roll-bar-linakge-set
https://www.campbelltownhobbies.com.au/anti-roll-bar-linakge-set
https://www.campbelltownhobbies.com.au/chassis-stiffener-ball-end-hyper-7
https://www.campbelltownhobbies.com.au/chassis-stiffener-ball-end-hyper-7
https://www.campbelltownhobbies.com.au/servo-ball-end
https://www.campbelltownhobbies.com.au/servo-ball-end
https://www.campbelltownhobbies.com.au/steering-knuckle-set-hyper-7
https://www.campbelltownhobbies.com.au/steering-knuckle-set-hyper-7
https://www.campbelltownhobbies.com.au/center-outdrive-cup-hyper-7
https://www.campbelltownhobbies.com.au/center-outdrive-cup-hyper-7
https://www.campbelltownhobbies.com.au/differential-pinion-gear-13t
https://www.campbelltownhobbies.com.au/differential-pinion-gear-13t
https://www.campbelltownhobbies.com.au/front-suspension-arm-holder-set-hyper-7
https://www.campbelltownhobbies.com.au/front-suspension-arm-holder-set-hyper-7
https://www.campbelltownhobbies.com.au/front-lower-alum-suspension-plate-black
https://www.campbelltownhobbies.com.au/front-lower-alum-suspension-plate-black
https://www.campbelltownhobbies.com.au/front-alum-top-plate-black-hyper-7
https://www.campbelltownhobbies.com.au/front-alum-top-plate-black-hyper-7
https://www.campbelltownhobbies.com.au/front-shock-tower~37373
https://www.campbelltownhobbies.com.au/front-shock-tower~37373
https://www.campbelltownhobbies.com.au/chassis-stiffener-rod-set-hyper-7
https://www.campbelltownhobbies.com.au/chassis-stiffener-rod-set-hyper-7
https://www.campbelltownhobbies.com.au/servo-arm-turnbuckle-m3x26
https://www.campbelltownhobbies.com.au/servo-arm-turnbuckle-m3x26
https://www.campbelltownhobbies.com.au/steering-turnbuckle-m4x45
https://www.campbelltownhobbies.com.au/steering-turnbuckle-m4x45
https://www.campbelltownhobbies.com.au/suspension-arm-turnbuckle-m5x31
https://www.campbelltownhobbies.com.au/suspension-arm-turnbuckle-m5x31
https://www.campbelltownhobbies.com.au/steering-plate-screw-and-bushing-set
https://www.campbelltownhobbies.com.au/steering-plate-screw-and-bushing-set
https://www.campbelltownhobbies.com.au/steering-plate-screw-and-bushing-set
https://www.campbelltownhobbies.com.au/c-hub-washer-4.1x8x1.2
https://www.campbelltownhobbies.com.au/c-hub-washer-4.1x8x1.2
https://www.campbelltownhobbies.com.au/c-hub-washer-4.1x8x1.2
https://www.campbelltownhobbies.com.au/shim-8-x-10-x-0.1
https://www.campbelltownhobbies.com.au/shim-8-x-10-x-0.1
https://www.campbelltownhobbies.com.au/alum-collar-3.2x10mm-10
https://www.campbelltownhobbies.com.au/alum-collar-3.2x10mm-10
https://www.campbelltownhobbies.com.au/wheel-hex-nut
https://www.campbelltownhobbies.com.au/wheel-hex-nut
https://www.campbelltownhobbies.com.au/wheel-hub-set-hyper-7
https://www.campbelltownhobbies.com.au/wheel-hub-set-hyper-7
https://www.campbelltownhobbies.com.au/ball-bearing-m8x16-8sc-hyper-7
https://www.campbelltownhobbies.com.au/ball-bearing-m8x16-8sc-hyper-7
https://www.campbelltownhobbies.com.au/ball-bearing-m8x16-8sc-hyper-7
https://www.campbelltownhobbies.com.au/ball-bearing-m8x16-8sc-hyper-7
https://www.campbelltownhobbies.com.au/ball-bearing-m8x16-8sc-hyper-7
https://www.campbelltownhobbies.com.au/shock-ball-stud
https://www.campbelltownhobbies.com.au/shock-ball-stud
https://www.campbelltownhobbies.com.au/shock-end-ball-6.8mm
https://www.campbelltownhobbies.com.au/shock-end-ball-6.8mm
https://www.campbelltownhobbies.com.au/shock-end-ball-6.8mm
https://www.campbelltownhobbies.com.au/steering-ball-6.8mm
https://www.campbelltownhobbies.com.au/steering-ball-6.8mm
https://www.campbelltownhobbies.com.au/steering-ball-6.8mm
https://www.campbelltownhobbies.com.au/ball-7.8mm
https://www.campbelltownhobbies.com.au/ball-7.8mm
https://www.campbelltownhobbies.com.au/flanged-ball-7.8mm
https://www.campbelltownhobbies.com.au/flanged-ball-7.8mm
https://www.campbelltownhobbies.com.au/flanged-ball-7.8mm
https://www.campbelltownhobbies.com.au/pin-2.5x16.8mm
https://www.campbelltownhobbies.com.au/pin-2.5x16.8mm
https://www.campbelltownhobbies.com.au/m3x3-set-screw
https://www.campbelltownhobbies.com.au/m3x3-set-screw
https://www.campbelltownhobbies.com.au/set-screw-m3x12
https://www.campbelltownhobbies.com.au/set-screw-m3x12
https://www.campbelltownhobbies.com.au/m5x4-set-screw
https://www.campbelltownhobbies.com.au/m5x4-set-screw
https://www.campbelltownhobbies.com.au/m5x4-set-screw
https://www.campbelltownhobbies.com.au/set-screw-m5x10
https://www.campbelltownhobbies.com.au/set-screw-m5x10
https://www.campbelltownhobbies.com.au/nut-m3
https://www.campbelltownhobbies.com.au/nut-m3
https://www.campbelltownhobbies.com.au/nylon-nut-m3
https://www.campbelltownhobbies.com.au/nylon-nut-m3
https://www.campbelltownhobbies.com.au/nylon-nut-m3
https://www.campbelltownhobbies.com.au/nylon-nut-m3
https://www.campbelltownhobbies.com.au/nylon-nut-m3
https://www.campbelltownhobbies.com.au/nylon-nut-m3
https://www.campbelltownhobbies.com.au/nylon-nut-m3
https://www.campbelltownhobbies.com.au/nylon-nut-m3
https://www.campbelltownhobbies.com.au/nylon-nut-m3
https://www.campbelltownhobbies.com.au/nylon-nut-m4
https://www.campbelltownhobbies.com.au/nylon-nut-m4
https://www.campbelltownhobbies.com.au/b-h-screw-m3x8
https://www.campbelltownhobbies.com.au/b-h-screw-m3x8
https://www.campbelltownhobbies.com.au/screw-m3x38-m3x40-m3x47
https://www.campbelltownhobbies.com.au/screw-m3x38-m3x40-m3x47
https://www.campbelltownhobbies.com.au/screw-m3x38-m3x40-m3x47
https://www.campbelltownhobbies.com.au/b-h-screw-m4x10
https://www.campbelltownhobbies.com.au/b-h-screw-m4x10
https://www.campbelltownhobbies.com.au/b-h-screw-m4x10
https://www.campbelltownhobbies.com.au/b-h-screw-m4x12
https://www.campbelltownhobbies.com.au/b-h-screw-m4x12
https://www.campbelltownhobbies.com.au/screw-m4x66
https://www.campbelltownhobbies.com.au/screw-m4x66
https://www.campbelltownhobbies.com.au/f-h-screw-m3x10
https://www.campbelltownhobbies.com.au/f-h-screw-m3x10
https://www.campbelltownhobbies.com.au/f-h-screw-m3x15
https://www.campbelltownhobbies.com.au/f-h-screw-m3x15
https://www.campbelltownhobbies.com.au/f-h-screw-m3x15
https://www.campbelltownhobbies.com.au/f-h-screw-m3x15
https://www.campbelltownhobbies.com.au/f-h-screw-m3x15
https://www.campbelltownhobbies.com.au/f-h-screw-m3x15
https://www.campbelltownhobbies.com.au/f-h-screw-m3x15
https://www.campbelltownhobbies.com.au/m3x8-cap-head-screw
https://www.campbelltownhobbies.com.au/m3x8-cap-head-screw
https://www.campbelltownhobbies.com.au/cap-screw-m3x14
https://www.campbelltownhobbies.com.au/cap-screw-m3x14
https://www.campbelltownhobbies.com.au/cap-screw-m3x14
https://www.campbelltownhobbies.com.au/cap-screw-m3x20
https://www.campbelltownhobbies.com.au/cap-screw-m3x20
https://www.campbelltownhobbies.com.au/m3x22-hex-socket-head-cap-screws
https://www.campbelltownhobbies.com.au/m3x22-hex-socket-head-cap-screws
https://www.campbelltownhobbies.com.au/m3x22-hex-socket-head-cap-screws
https://www.campbelltownhobbies.com.au/cap-screw-m4x12
https://www.campbelltownhobbies.com.au/cap-screw-m4x12
https://www.campbelltownhobbies.com.au/cap-screw-m4x12
https://www.campbelltownhobbies.com.au/cap-screw-m4x15
https://www.campbelltownhobbies.com.au/cap-screw-m4x15
https://www.campbelltownhobbies.com.au/cap-screw-m4x15
https://www.campbelltownhobbies.com.au/cap-screw-m4x15
https://www.campbelltownhobbies.com.au/cap-screw-m4x15
https://www.campbelltownhobbies.com.au/cap-screw-m4x15
https://www.campbelltownhobbies.com.au/cap-shoulder-screw-m4x40
https://www.campbelltownhobbies.com.au/cap-shoulder-screw-m4x40
https://www.campbelltownhobbies.com.au/shock-end-ball-6.8mm
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Pencil

MSned
Pencil



ITEM REAR CLIP DESCRIPTION 
l Front Gear Box

2 Rear Gear Box 

3 Rear Lower Arm 

4 Rear Bumoer 

5 Rear Front Lower Arm Holder 

6 Rear Front Top Wing Mount Holder 

7 Wing Mount Right 

8 Wing Mount Left 

9 Rear Body Post 

10 Rear Hub Left 

11 Rear Hub Right 

12 Rear Hub Soacer 

13 Wing Mount Angle Plate Left 

14 Wing Mount Angle Plate Right 

15 Collar 

16 Wing Mount Brace 

17 Ball End 6.8mm/L 16.75mm 

18 Ball End 7 .8mm/L 36.50mm 

19 Ball End 7 .8mm/L 28mm 

20 Alum Spacer 

21 Rear Anti-Roll Bar 

22 Differential Pinion Gear 13T 

23 Rear Shock Tower 

24 Rear Rear Lower Alum Arm Holder 

25 Outdrive Cuo 

26 Axle Cuo 

27 Axle Pin 

28 Axle 

29 Rear Too Arm Turnbuckle 

30 Rear Chassis Stiffener Rod 

31 Shim 

32 A lum Collar 

33 Alum Collar 

34 Wheel Hex Nut 

35 Whee Hub 

36 Bearing 8x 16x5 

37 Shock Ball Stud 5.8mm 

38 Ball 6.8mm 

39 Ball Collar 6.8mm 

40 Bal l Long 7.8mm 

41 Ball Flanged 7.8mm 

42 Bal l 7.8mm 

43 Pin 2.5x 16.8 

44 Set Screw M3x3 

45 Set Screw M3x12 

REAR CLIP 

PART NUMBER QTY 
87023 

87023 

870391 

87064 

87038 

87038 

87046 

87046 

87046 

87036 

87036 

87036 

87046 

87046 

87046 

87046 

87329-4 

87043 

87072 

87070 

87044-2 

87028 

87602 

87040B 

87021 

87037 

87045 

87045 

87042 

87063N 

HB-397 

36801 

87044S 

84022H 

87027 

84076 

88094 

30004 

87329-4 

30002 

30005 

30001 

87027-1 

38303 

38312 

l 

l 

2 

l 

l 

l 

l 

l 

l 

l 

l 

4 

l 

l 

6 

3 

4 

4 

2 

l 

l 

l 

1 

1 

1 

2 

4 

2 

2 

1 

2 

2 

4 

2 

2 

6 

2 

2 

2 

2 

3 

1 

2 

2 

2 

59 
41 0 

33 

3

ITEM REAR CLIP DESCRIPTION PART NUMBER QTY 
46 Set Screw M5x4 38504 3 

47 Set Screw M5x 10 38510 2 

48 Nylon NutM3 39008 7 

49 Nvlon NutM4 39009 2 

50 B/H Screw M3x8 33308 l 

51 B/H Screw M3xl2 33312 2 

52 B/H Screw M3xl5 33315 6 

53 B/H Shoulder Screw M3x47 87555 2 

54 B/H Screw M4xl2 33412 2 

55 B/H Screw M4x22 33422 2 

56 B/H Shoulder Screw M4x66 87554 2 

57 F/H Screw M3xl 5  31315 2 

58 Cao Screw M3x8 32308 2 

59 Cao Screw M3x14 32314 4 

60 Cao Screw M3x20 32320 4 

61 Cao Shoulder Screw M3x22 32322 2 

62 Cap Shoulder Screw M3x25 32325 2 

63 Cap Shoulder Screw M3x50 32350 1 

64 Cap Screw M4xl5 32415 6 

65 Cap Shoulder Screw M4x40 32440 2 

66 Rear Wing(Black or White) 87093B or 87093W 1 

67 Fron I/Rear Differential - l 

68 

69 

70 

71 

72 

73 

74 

75 

76 

77 

78 

79 

80 

81 

82 

83 

84 

85 

86 

87 

88 

89 

90 

Ar=s�:========:::r--.... 
0 60 

https://www.campbelltownhobbies.com.au/gear-box-hyper-7
https://www.campbelltownhobbies.com.au/gear-box-hyper-7
https://www.campbelltownhobbies.com.au/gear-box-hyper-7
https://www.campbelltownhobbies.com.au/rear-lower-arm-hyper-7
https://www.campbelltownhobbies.com.au/rear-lower-arm-hyper-7
https://www.campbelltownhobbies.com.au/bumper-set-hyper-7
https://www.campbelltownhobbies.com.au/bumper-set-hyper-7
https://www.campbelltownhobbies.com.au/rear-wing-suspension-holder-hyper-7
https://www.campbelltownhobbies.com.au/rear-wing-suspension-holder-hyper-7
https://www.campbelltownhobbies.com.au/rear-wing-suspension-holder-hyper-7
https://www.campbelltownhobbies.com.au/wing-mount-set-hyper-7
https://www.campbelltownhobbies.com.au/wing-mount-set-hyper-7
https://www.campbelltownhobbies.com.au/wing-mount-set-hyper-7
https://www.campbelltownhobbies.com.au/wing-mount-set-hyper-7
https://www.campbelltownhobbies.com.au/rear-hub-set-hyper-7
https://www.campbelltownhobbies.com.au/rear-hub-set-hyper-7
https://www.campbelltownhobbies.com.au/rear-hub-set-hyper-7
https://www.campbelltownhobbies.com.au/rear-hub-set-hyper-7
https://www.campbelltownhobbies.com.au/wing-mount-set-hyper-7
https://www.campbelltownhobbies.com.au/wing-mount-set-hyper-7
https://www.campbelltownhobbies.com.au/wing-mount-set-hyper-7
https://www.campbelltownhobbies.com.au/wing-mount-set-hyper-7
https://www.campbelltownhobbies.com.au/wing-mount-set-hyper-7
https://www.campbelltownhobbies.com.au/wing-mount-set-hyper-7
https://www.campbelltownhobbies.com.au/wing-mount-set-hyper-7
https://www.campbelltownhobbies.com.au/wing-mount-set-hyper-7
https://www.campbelltownhobbies.com.au/wing-mount-set-hyper-7
https://www.campbelltownhobbies.com.au/anti-roll-bar-linakge-set
https://www.campbelltownhobbies.com.au/anti-roll-bar-linakge-set
https://www.campbelltownhobbies.com.au/anti-roll-bar-linakge-set
https://www.campbelltownhobbies.com.au/rear-upper-ball-end-hyper-7
https://www.campbelltownhobbies.com.au/rear-upper-ball-end-hyper-7
https://www.campbelltownhobbies.com.au/chassis-stiffener-ball-end-hyper-7
https://www.campbelltownhobbies.com.au/chassis-stiffener-ball-end-hyper-7
https://www.campbelltownhobbies.com.au/chassis-stiffener-ball-end-hyper-7
https://www.campbelltownhobbies.com.au/rear-chassis-stiffener-screw-set-hyper-7
https://www.campbelltownhobbies.com.au/rear-chassis-stiffener-screw-set-hyper-7
https://www.campbelltownhobbies.com.au/rear-anti-roll-bar-hyper-7
https://www.campbelltownhobbies.com.au/rear-anti-roll-bar-hyper-7
https://www.campbelltownhobbies.com.au/differential-pinion-gear-13t
https://www.campbelltownhobbies.com.au/differential-pinion-gear-13t
https://www.campbelltownhobbies.com.au/rear-shock-tower~37374
https://www.campbelltownhobbies.com.au/rear-shock-tower~37374
https://www.campbelltownhobbies.com.au/rear-lower-alum-suspension-plate-black
https://www.campbelltownhobbies.com.au/rear-lower-alum-suspension-plate-black
https://www.campbelltownhobbies.com.au/center-outdrive-cup-hyper-7
https://www.campbelltownhobbies.com.au/center-outdrive-cup-hyper-7
https://www.campbelltownhobbies.com.au/axle-cup-hyper-7
https://www.campbelltownhobbies.com.au/axle-cup-hyper-7
https://www.campbelltownhobbies.com.au/hyper-7-dog-bone
https://www.campbelltownhobbies.com.au/hyper-7-dog-bone
https://www.campbelltownhobbies.com.au/hyper-7-dog-bone
https://www.campbelltownhobbies.com.au/rear-top-arm-turnbuckle-hyper-7
https://www.campbelltownhobbies.com.au/rear-top-arm-turnbuckle-hyper-7
https://www.campbelltownhobbies.com.au/chassis-stiffener-rod-set-hyper-7
https://www.campbelltownhobbies.com.au/chassis-stiffener-rod-set-hyper-7
https://www.campbelltownhobbies.com.au/shim-8-x-10-x-0.1
https://www.campbelltownhobbies.com.au/shim-8-x-10-x-0.1
https://www.campbelltownhobbies.com.au/alum-collar-15x4.5mm-vs
https://www.campbelltownhobbies.com.au/alum-collar-15x4.5mm-vs
https://www.campbelltownhobbies.com.au/alum-collar-15x4.5mm-vs
https://www.campbelltownhobbies.com.au/alum-collar-3.2x10mm-10
https://www.campbelltownhobbies.com.au/alum-collar-3.2x10mm-10
https://www.campbelltownhobbies.com.au/alum-collar-3.2x10mm-10
https://www.campbelltownhobbies.com.au/alum-collar-3.2x10mm-10
https://www.campbelltownhobbies.com.au/wheel-hex-nut
https://www.campbelltownhobbies.com.au/wheel-hex-nut
https://www.campbelltownhobbies.com.au/wheel-hub-set-hyper-7
https://www.campbelltownhobbies.com.au/wheel-hub-set-hyper-7
https://www.campbelltownhobbies.com.au/ball-bearing-m8x16-8sc-hyper-7
https://www.campbelltownhobbies.com.au/ball-bearing-m8x16-8sc-hyper-7
https://www.campbelltownhobbies.com.au/ball-bearing-m8x16-8sc-hyper-7
https://www.campbelltownhobbies.com.au/ball-bearing-m8x16-8sc-hyper-7
https://www.campbelltownhobbies.com.au/ball-bearing-m8x16-8sc-hyper-7
https://www.campbelltownhobbies.com.au/shock-ball-stud
https://www.campbelltownhobbies.com.au/shock-ball-stud
https://www.campbelltownhobbies.com.au/shock-ball-stud
https://www.campbelltownhobbies.com.au/shock-end-ball-6.8mm
https://www.campbelltownhobbies.com.au/shock-end-ball-6.8mm
https://www.campbelltownhobbies.com.au/suspension-ball-7.8mm
https://www.campbelltownhobbies.com.au/suspension-ball-7.8mm
https://www.campbelltownhobbies.com.au/flanged-ball-7.8mm
https://www.campbelltownhobbies.com.au/flanged-ball-7.8mm
https://www.campbelltownhobbies.com.au/flanged-ball-7.8mm
https://www.campbelltownhobbies.com.au/ball-7.8mm
https://www.campbelltownhobbies.com.au/ball-7.8mm
https://www.campbelltownhobbies.com.au/anti-roll-bar-linakge-set
https://www.campbelltownhobbies.com.au/anti-roll-bar-linakge-set
https://www.campbelltownhobbies.com.au/pin-2.5x16.8mm
https://www.campbelltownhobbies.com.au/pin-2.5x16.8mm
https://www.campbelltownhobbies.com.au/m3x3-set-screw
https://www.campbelltownhobbies.com.au/m3x3-set-screw
https://www.campbelltownhobbies.com.au/set-screw-m3x12
https://www.campbelltownhobbies.com.au/set-screw-m3x12
https://www.campbelltownhobbies.com.au/m5x4-set-screw
https://www.campbelltownhobbies.com.au/m5x4-set-screw
https://www.campbelltownhobbies.com.au/m5x4-set-screw
https://www.campbelltownhobbies.com.au/set-screw-m5x10
https://www.campbelltownhobbies.com.au/set-screw-m5x10
https://www.campbelltownhobbies.com.au/nylon-nut-m3
https://www.campbelltownhobbies.com.au/nylon-nut-m3
https://www.campbelltownhobbies.com.au/nylon-nut-m3
https://www.campbelltownhobbies.com.au/nylon-nut-m3
https://www.campbelltownhobbies.com.au/nylon-nut-m4
https://www.campbelltownhobbies.com.au/nylon-nut-m4
https://www.campbelltownhobbies.com.au/nylon-nut-m4
https://www.campbelltownhobbies.com.au/b-h-screw-m3x8
https://www.campbelltownhobbies.com.au/b-h-screw-m3x8
https://www.campbelltownhobbies.com.au/b-h-screw-m3x12
https://www.campbelltownhobbies.com.au/b-h-screw-m3x12
https://www.campbelltownhobbies.com.au/b-h-screw-m3x15
https://www.campbelltownhobbies.com.au/b-h-screw-m3x15
https://www.campbelltownhobbies.com.au/b-h-screw-m3x15
https://www.campbelltownhobbies.com.au/screw-m3x38-m3x40-m3x47
https://www.campbelltownhobbies.com.au/screw-m3x38-m3x40-m3x47
https://www.campbelltownhobbies.com.au/b-h-screw-m4x12
https://www.campbelltownhobbies.com.au/b-h-screw-m4x22
https://www.campbelltownhobbies.com.au/b-h-screw-m4x22
https://www.campbelltownhobbies.com.au/screw-m4x66
https://www.campbelltownhobbies.com.au/screw-m4x66
https://www.campbelltownhobbies.com.au/b-h-screw-m4x12
https://www.campbelltownhobbies.com.au/f-h-screw-m3x15
https://www.campbelltownhobbies.com.au/f-h-screw-m3x15
https://www.campbelltownhobbies.com.au/m3x8-cap-head-screw
https://www.campbelltownhobbies.com.au/m3x8-cap-head-screw
https://www.campbelltownhobbies.com.au/cap-screw-m3x14
https://www.campbelltownhobbies.com.au/cap-screw-m3x14
https://www.campbelltownhobbies.com.au/cap-screw-m3x14
https://www.campbelltownhobbies.com.au/cap-screw-m3x14
https://www.campbelltownhobbies.com.au/cap-screw-m3x20
https://www.campbelltownhobbies.com.au/cap-screw-m3x20
https://www.campbelltownhobbies.com.au/cap-screw-m3x20
https://www.campbelltownhobbies.com.au/m3x22-hex-socket-head-cap-screws
https://www.campbelltownhobbies.com.au/m3x22-hex-socket-head-cap-screws
https://www.campbelltownhobbies.com.au/cap-shoulder-screw-m3x25
https://www.campbelltownhobbies.com.au/cap-shoulder-screw-m3x25
https://www.campbelltownhobbies.com.au/cap-shoulder-screw-m3x50
https://www.campbelltownhobbies.com.au/cap-shoulder-screw-m3x50
https://www.campbelltownhobbies.com.au/cap-screw-m4x15
https://www.campbelltownhobbies.com.au/cap-screw-m4x15
https://www.campbelltownhobbies.com.au/cap-screw-m4x15
https://www.campbelltownhobbies.com.au/cap-screw-m4x15
https://www.campbelltownhobbies.com.au/cap-screw-m4x15
https://www.campbelltownhobbies.com.au/cap-shoulder-screw-m4x40
https://www.campbelltownhobbies.com.au/cap-shoulder-screw-m4x40
https://www.campbelltownhobbies.com.au/rear-wing-black
https://www.campbelltownhobbies.com.au/rear-wing-white
https://www.campbelltownhobbies.com.au/cap-screw-m4x15
https://www.campbelltownhobbies.com.au/f-h-screw-m3x15
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Pencil

MSned
Pencil

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight



FRONT & REAR DIFFERENTIAL 
ITEM F&R DIFFERENTIAL DESCRIPTION PART NUMBER OTY 

1 Differential Case 87004 2 

2 Included With Differential Case 87004 2 

3 Differential Outdrive Cup 87003 4 

4 Bevel Gear 20T 87002 4 

5 Bevel Gear I OT 87002 8 

6 Differential Cross Pins 87002 4 

7 Spacer 4. lx8x0.25 87002 8 

8 Crown Gear 43T 87001 2 

9 O-Rin2: 5.8xl.9 36101 4 

10 O-Ring 22x0.9 36102 2 

11 Bearing 8x 16x5 84076 4 

12 Pin-2.5xl3.8 36001 4 

13 Set Screw M4x4 38404 2 

14 F/H Screw M3x10 31310 8 

15 

16 

17 

18 

19 

20 

21 

22 

23 

24 

25 

26 

27 

28 

29 

30 

31 

32 

33 

34 

35 

36 

37 

38 

39 

40 

41 

42 

43 

44 

45 

CENTER DIFFERENTIAL 
ITEM CENTER DIFFERENTIAL DESCRIPTION PART NUMBER OTY 

1 Differential Case 87004 1 

2 Included With Differential Case 87004 1 

3 Differential Outdtive Cuo 87006 2 

4 Bevel Gear 20T 87002 2 

5 Bevel Gear 1 OT 87002 4 

6 Differential Cross Pins 87002 2 

7 Soacer 4.1 x8x0.25 87002 4 

8 Center Sour Gear 46T 87005 1 

9 O-Rin11 5.8x 1.9 36101 2 

10 O-Rine 22x0.9 36102 1 

11 Beating 8x 16x5 84076 2 

12 Pin-2.Sx 13.8 36001 2 

13 Set Screw M4x4 38404 1 

14 B/H Screw M3xl 2 33312 4 

15 Soacer 6.2x l 3.9x0.3 87005-1 1 

16 

17 

18 

19 

20 

21 

22 

23 

24 

25 

26 

27 

28 

29 

30 

31 

32 

33 

34 

35 

36 

37 

38 

39 

40 

41 

42 

43 

44 

4 
45 

https://www.campbelltownhobbies.com.au/differential-case-hyper-7
https://www.campbelltownhobbies.com.au/differential-case-hyper-7
https://www.campbelltownhobbies.com.au/differential-outdrive-cup-hyper-7
https://www.campbelltownhobbies.com.au/differential-outdrive-cup-hyper-7
https://www.campbelltownhobbies.com.au/bevel-gear-set-hyper-7
https://www.campbelltownhobbies.com.au/bevel-gear-set-hyper-7
https://www.campbelltownhobbies.com.au/bevel-gear-set-hyper-7
https://www.campbelltownhobbies.com.au/bevel-gear-set-hyper-7
https://www.campbelltownhobbies.com.au/bevel-gear-set-hyper-7
https://www.campbelltownhobbies.com.au/bevel-gear-set-hyper-7
https://www.campbelltownhobbies.com.au/bevel-gear-set-hyper-7
https://www.campbelltownhobbies.com.au/differential-outdrive-cup-hyper-7
https://www.campbelltownhobbies.com.au/bevel-gear-set-hyper-7
https://www.campbelltownhobbies.com.au/crown-gear-43t-hyper-7
https://www.campbelltownhobbies.com.au/crown-gear-43t-hyper-7
https://www.campbelltownhobbies.com.au/o-ring-5.8x1.9
https://www.campbelltownhobbies.com.au/o-ring-5.8x1.9
https://www.campbelltownhobbies.com.au/o-ring-5.8x1.9
https://www.campbelltownhobbies.com.au/o-ring-22x0.9
https://www.campbelltownhobbies.com.au/o-ring-22x0.9
https://www.campbelltownhobbies.com.au/ball-bearing-m8x16-8sc-hyper-7
https://www.campbelltownhobbies.com.au/ball-bearing-m8x16-8sc-hyper-7
https://www.campbelltownhobbies.com.au/ball-bearing-m8x16-8sc-hyper-7
https://www.campbelltownhobbies.com.au/pin-2.5x13.8mm-vs
https://www.campbelltownhobbies.com.au/pin-2.5x13.8mm-vs
https://www.campbelltownhobbies.com.au/pin-2.5x13.8mm-vs
https://www.campbelltownhobbies.com.au/set-screw-m4x4
https://www.campbelltownhobbies.com.au/set-screw-m4x4
https://www.campbelltownhobbies.com.au/f-h-screw-m3x10
https://www.campbelltownhobbies.com.au/f-h-screw-m3x10
https://www.campbelltownhobbies.com.au/differential-case-hyper-7
https://www.campbelltownhobbies.com.au/differential-case-hyper-7
https://www.campbelltownhobbies.com.au/center-differential-outdrive-cup-hyper-7
https://www.campbelltownhobbies.com.au/center-differential-outdrive-cup-hyper-7
https://www.campbelltownhobbies.com.au/center-differential-outdrive-cup-hyper-7
https://www.campbelltownhobbies.com.au/bevel-gear-set-hyper-7
https://www.campbelltownhobbies.com.au/bevel-gear-set-hyper-7
https://www.campbelltownhobbies.com.au/bevel-gear-set-hyper-7
https://www.campbelltownhobbies.com.au/bevel-gear-set-hyper-7
https://www.campbelltownhobbies.com.au/bevel-gear-set-hyper-7
https://www.campbelltownhobbies.com.au/bevel-gear-set-hyper-7
https://www.campbelltownhobbies.com.au/bevel-gear-set-hyper-7
https://www.campbelltownhobbies.com.au/bevel-gear-set-hyper-7
https://www.campbelltownhobbies.com.au/spur-gear-46t-vs-hyper-7
https://www.campbelltownhobbies.com.au/spur-gear-46t-vs-hyper-7
https://www.campbelltownhobbies.com.au/o-ring-5.8x1.9
https://www.campbelltownhobbies.com.au/o-ring-5.8x1.9
https://www.campbelltownhobbies.com.au/o-ring-22x0.9
https://www.campbelltownhobbies.com.au/o-ring-22x0.9
https://www.campbelltownhobbies.com.au/o-ring-5.8x1.9
https://www.campbelltownhobbies.com.au/ball-bearing-m8x16-8sc-hyper-7
https://www.campbelltownhobbies.com.au/ball-bearing-m8x16-8sc-hyper-7
https://www.campbelltownhobbies.com.au/ball-bearing-m8x16-8sc-hyper-7
https://www.campbelltownhobbies.com.au/pin-2.5x13.8mm-vs
https://www.campbelltownhobbies.com.au/pin-2.5x13.8mm-vs
https://www.campbelltownhobbies.com.au/pin-2.5x13.8mm-vs
https://www.campbelltownhobbies.com.au/set-screw-m4x4
https://www.campbelltownhobbies.com.au/set-screw-m4x4
https://www.campbelltownhobbies.com.au/b-h-screw-m3x12
https://www.campbelltownhobbies.com.au/b-h-screw-m3x12
https://www.campbelltownhobbies.com.au/spacer-6.2x13.9x0.3mm
https://www.campbelltownhobbies.com.au/spacer-6.2x13.9x0.3mm
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Pencil

MSned
Pencil



CENTER DIFFERENTIAL SET 

7 
Q 6 

t:i:::=J:Gt':::J � ®--a 8
� 

TIRES 

FUELTANK�V 

®-1 ID 4 
7 8 

6 

ITEM 
1 

2 

3 

4 

5 

6 

7 

8 

9 

10 

11 

12 

13 

14 

15 

16 

17 

18 

19 

20 

21 

22 

2 23 

24 

25 

26 

27 

28 

29 

30 

31 

32 

33 

34 

35 

36 

37 

38 

39 

40 

41 

42 

43 

44 

45 

ITEM 
1 

2 

3 

4 

5 

6 

7 

8 

9 

10 

11 

12 

13 

14 

15 

16 

17 

18 

19 

20 

ITEM 
1 

2 

3 

4 

5 

6 

7 

8 

9 

10 

11 

12 

13 

14 

15 

16 

17 

18 

19 

20 

5

CENTER DIFF SET DESCRIPTION PART NUMBER QTY 
Center Differential Mount 87048 2 

Fiber Brake Disk 89143 2 

Brake Pad 87049 4 

Brake Cam Short 87054 I 

Brake Cam Long 87054 I 

Brake Cam Spacer 87051-1 2 

Alum Center Differential Top Plate 87051 I 

Brake Lever 87054 2 

Center Differential Mount Post 87050 4 

Set Screw M3x3 38303 2 

F/H Screw M3x10 31310 4 

Hex Screw M3xl6.5 34316 4 

Center Differential Unit - I 

TIRE & WHEEL DESCRIPTION PART NUMBER QTY 
Tire 87097 4 

Dish Wheel (Black or White) 88235B or 88235 4 

Foam Insert FR-25 4 

FUEL TANK DESCRIPTION PART NUMBER QTY 
Fuel Tank 87076 l 

Fuel Filter 84112 l 

Fuel Tank Guard 87075 1 

Fuel Filter Holder 87075 1 

Tie Strap - l 

Fuel Tank Post 87074 2 

B/H Screw M3x8 33308 2 

B/H Screw M3xl 2 33312 2 

F/H Screw M3xl0 31310 l

https://www.campbelltownhobbies.com.au/center-differential-mount-hyper-7
https://www.campbelltownhobbies.com.au/center-differential-mount-hyper-7
https://www.campbelltownhobbies.com.au/brake-disk-glassfiber-8sc
https://www.campbelltownhobbies.com.au/brake-disk-glassfiber-8sc
https://www.campbelltownhobbies.com.au/brake-pad-hyper-7
https://www.campbelltownhobbies.com.au/brake-pad-hyper-7
https://www.campbelltownhobbies.com.au/brake-pad-hyper-7
https://www.campbelltownhobbies.com.au/brake-cam-set-hyper-7
https://www.campbelltownhobbies.com.au/brake-cam-set-hyper-7
https://www.campbelltownhobbies.com.au/brake-cam-set-hyper-7
https://www.campbelltownhobbies.com.au/brake-disk-glassfiber-8sc
https://www.campbelltownhobbies.com.au/brake-cam-spacer
https://www.campbelltownhobbies.com.au/brake-cam-spacer
https://www.campbelltownhobbies.com.au/brake-cam-spacer
https://www.campbelltownhobbies.com.au/center-alum-differential-mount-plate-b
https://www.campbelltownhobbies.com.au/center-alum-differential-mount-plate-b
https://www.campbelltownhobbies.com.au/brake-cam-set-hyper-7
https://www.campbelltownhobbies.com.au/brake-cam-set-hyper-7
https://www.campbelltownhobbies.com.au/center-differential-mount-post-hyper-7
https://www.campbelltownhobbies.com.au/center-differential-mount-post-hyper-7
https://www.campbelltownhobbies.com.au/m3x3-set-screw
https://www.campbelltownhobbies.com.au/m3x3-set-screw
https://www.campbelltownhobbies.com.au/m3x3-set-screw
https://www.campbelltownhobbies.com.au/f-h-screw-m3x10
https://www.campbelltownhobbies.com.au/f-h-screw-m3x10
https://www.campbelltownhobbies.com.au/brake-screw-m3x16.5
https://www.campbelltownhobbies.com.au/brake-screw-m3x16.5
https://www.campbelltownhobbies.com.au/tq-tyre-1-8-foam-insert-not-included
https://www.campbelltownhobbies.com.au/tq-tyre-1-8-foam-insert-not-included
https://www.campbelltownhobbies.com.au/new-dish-wheel-for-sprint-car
https://www.campbelltownhobbies.com.au/new-dish-wheel-for-sprint-car
https://www.campbelltownhobbies.com.au/inner-foam-for-tire-10sc-ep
https://www.campbelltownhobbies.com.au/inner-foam-for-tire-10sc-ep
https://www.campbelltownhobbies.com.au/fuel-tank-hyper-7
https://www.campbelltownhobbies.com.au/fuel-tank-hyper-7
https://www.campbelltownhobbies.com.au/fuel-filter-hyper-7
https://www.campbelltownhobbies.com.au/fuel-filter-hyper-7
https://www.campbelltownhobbies.com.au/fuel-tank-guard-holder-hyper-7
https://www.campbelltownhobbies.com.au/fuel-tank-guard-holder-hyper-7
https://www.campbelltownhobbies.com.au/fuel-tank-guard-holder-hyper-7
https://www.campbelltownhobbies.com.au/fuel-tank-post-hyper-7
https://www.campbelltownhobbies.com.au/fuel-tank-post-hyper-7
https://www.campbelltownhobbies.com.au/b-h-screw-m3x8
https://www.campbelltownhobbies.com.au/b-h-screw-m3x12
https://www.campbelltownhobbies.com.au/b-h-screw-m3x12
https://www.campbelltownhobbies.com.au/f-h-screw-m3x10
https://www.campbelltownhobbies.com.au/f-h-screw-m3x10
https://www.campbelltownhobbies.com.au/b-h-screw-m3x8
https://www.campbelltownhobbies.com.au/b-h-screw-m3x8
https://www.campbelltownhobbies.com.au/fuel-tank-post-hyper-7
https://www.campbelltownhobbies.com.au/b-h-screw-m3x12
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Pencil

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Pencil



ENGINE MOUNT 
ITEM ENGINE MOUNT DESCRIPTION PART NUMBER QTY 

1 .21 or .28 Engine 1 
2 En2ine Mount 87079 2 
3 En2ine Mount Soacer 87079- l 2 
4 En2ine Mount Plate 87077B l 
5 Snrin2 Washer 3. lx5x l.5 3SW3NI 4 
6 Nvlon NutM3 39008 4 
7 Can Screw M3x14 32314 4 
8 En1>ine Mount Screw 39408 4 
9 
10 
11 
12 
13 
14 
15 
16 
17 

� 

18 
19 
20 

CLUTCH ASSEMBLY 
ITEM CLUTCH ASSEMBLY DESCRIPTION PART NUMBER QTY 

1 Collar 84057C l 

2 Flvwheel 84057 I 

3 C lutch Shoe 84052 3 
4 C lutch Sorin2 84053 3 
5 C lutch Bell FR-24D I 

6 Flvwheel Nut 224044 I 

7 Bearin2 5x l0x4 84077 2 
8 Washer Spacer 3. l x6x0.5 84187W I 

9 Shim 5. lx8x0.25 84187W 3 
10 Cao Screw M3x8 32308 I 

11 
12 
l3 

14 
15 
16 
17 
18 
19 
20 

 

5 

MUFFLER ASSEMBLY 
ITEM MUFFLER ASSEMBLY DESCRIPTION PART NUMBER QTY 

I Muffler 87229 l 

2 Manifold Soring Retainer 84067 l 

3 Manifold Soring 84067 l 

4 Nvlon Strap - 2 
5 Manifold 84067 l 

6 M uffler Silicon Tube 87378B l 

7 
8 
9 
10 
II 

12 
l3 

14 
15 
16 
17 
18 
19 
20 

AIR FILTER ASSEMBLY ITEM AIR FILTER ASSEMBLY DESCRIPTION PART NUMBER QTY 
1 Air Filter Cao 86040 1 
2 Air Filter Base 86040 1 
3 Intake Tube 88064-1 1 
4 Nvlon Strao 88064-1 2 
5 Air Filter Inner Foam 88093 1 
6 Air Ftlter Outer Foam 88093 1 
7 F/H Screw M3xl0 31310 2 
8 
9 
10 
11 
12 
13 
14 
15 
16 
17 
18 
19 
20 

6

https://www.campbelltownhobbies.com.au/engine-mount-hyper-7https://www.campbelltownhobbies.com.au/engine-mount-hyper-7
https://www.campbelltownhobbies.com.au/engine-mount-hyper-7
https://www.campbelltownhobbies.com.au/engine-mount-spacer
https://www.campbelltownhobbies.com.au/engine-mount-spacer
https://www.campbelltownhobbies.com.au/engine-mount-spacer
https://www.campbelltownhobbies.com.au/engine-mount-plate-black-hyper-7
https://www.campbelltownhobbies.com.au/engine-mount-plate-black-hyper-7
https://www.campbelltownhobbies.com.au/washer-3.1x5x1.5
https://www.campbelltownhobbies.com.au/washer-3.1x5x1.5
https://www.campbelltownhobbies.com.au/washer-3.1x5x1.5
https://www.campbelltownhobbies.com.au/nylon-nut-m3
https://www.campbelltownhobbies.com.au/nylon-nut-m3
https://www.campbelltownhobbies.com.au/nylon-nut-m3
https://www.campbelltownhobbies.com.au/cap-screw-m3x14
https://www.campbelltownhobbies.com.au/cap-screw-m3x14
https://www.campbelltownhobbies.com.au/engine-mount-screw
https://www.campbelltownhobbies.com.au/engine-mount-screw
https://www.campbelltownhobbies.com.au/collar
https://www.campbelltownhobbies.com.au/collar
https://www.campbelltownhobbies.com.au/flywheel-hyper-7
https://www.campbelltownhobbies.com.au/flywheel-hyper-7
https://www.campbelltownhobbies.com.au/clutch-shoe-hyper-7
https://www.campbelltownhobbies.com.au/clutch-shoe-hyper-7
https://www.campbelltownhobbies.com.au/clutch-spring-hyper-7
https://www.campbelltownhobbies.com.au/clutch-spring-hyper-7
https://www.campbelltownhobbies.com.au/clutch-spring-hyper-7
https://www.campbelltownhobbies.com.au/clutch-bell
https://www.campbelltownhobbies.com.au/clutch-bell
https://www.campbelltownhobbies.com.au/flywheel-nut
https://www.campbelltownhobbies.com.au/flywheel-nut
https://www.campbelltownhobbies.com.au/bearing-5x10x4-hyper-7
https://www.campbelltownhobbies.com.au/bearing-5x10x4-hyper-7
https://www.campbelltownhobbies.com.au/clutch-bell-washer
https://www.campbelltownhobbies.com.au/clutch-bell-washer
https://www.campbelltownhobbies.com.au/clutch-bell-washer
https://www.campbelltownhobbies.com.au/clutch-bell-washer
https://www.campbelltownhobbies.com.au/m3x8-cap-head-screw
https://www.campbelltownhobbies.com.au/m3x8-cap-head-screw
https://www.campbelltownhobbies.com.au/muffler~37343
https://www.campbelltownhobbies.com.au/muffler~37343
https://www.campbelltownhobbies.com.au/manifold-set-hyper-7
https://www.campbelltownhobbies.com.au/manifold-set-hyper-7
https://www.campbelltownhobbies.com.au/manifold-set-hyper-7
https://www.campbelltownhobbies.com.au/manifold-set-hyper-7
https://www.campbelltownhobbies.com.au/manifold-set-hyper-7
https://www.campbelltownhobbies.com.au/silicon-tube-black
https://www.campbelltownhobbies.com.au/silicon-tube-black
https://www.campbelltownhobbies.com.au/silicon-tube-black
https://www.campbelltownhobbies.com.au/silicon-tube-black
https://www.campbelltownhobbies.com.au/air-filter-body-hyper-7
https://www.campbelltownhobbies.com.au/air-filter-body-hyper-7
https://www.campbelltownhobbies.com.au/air-filter-body-hyper-7
https://www.campbelltownhobbies.com.au/intake-tube
https://www.campbelltownhobbies.com.au/air-filter-foam
https://www.campbelltownhobbies.com.au/air-filter-foam
https://www.campbelltownhobbies.com.au/air-filter-foam
https://www.campbelltownhobbies.com.au/f-h-screw-m3x10
https://www.campbelltownhobbies.com.au/intake-tube
https://www.campbelltownhobbies.com.au/intake-tube
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Pencil

MSned
Pencil



FRONT SHOCK & SPRING 

� 

� 

1 Q--® 

� � 

� 

REAR SHOCK & SPRING 

7 

ITEM 
1 

2 
3 
4 
5 
6 
7 
8 
9 

10 
11 
12 
13 
14 
15 
16 
17 
18 
19 
20 
21 
22 
23 
24 
25 
26 
27 
28 
29 
30 
31 
32 
33 
34 
35 
36 
37 
38 
39 
40 
41 
42 
43 
44 
45 

ITEM 
1 

2 
3 
4 
5 
6 
7 
8 
9 

10 
11 

12 
13 
14 
15 
16 
17 
18 
19 
20 

21 
22 
23 
24 
25 
26 
27 
28 
29 
30 
31 
32 
33 
34 
35 
36 
37 
38 
39 
40 
41 
42 
43 
44 
45 

FRONT SHOCK ASSEMBLY DESCRIPTION PART NUMBER QTY 
Front Shock Bodv 86045S 2 
Front Shock Cap 86045S 2 
Shock Mount Holder 86050 2 
Spring Holder Top 86050 2 
Shock Bladder 86049 2 
Spring Holder Bottom 86050 2 
Front Shock Shaft 87125 2 
Shock End 86050 2 
Piston 86048 2 
Shock Seal Clip 87398 2 
Shock Seal Spacer 87398 4 
Shock Dust Cover 87018 2 
Front Shock Spring 88096-1 2 
Ball 6.8mm 30004 2 
O-Ring 3.4x2 87398 4 
Nylon Nut M2.6 39007 2 
Washer 2.7x6.5x0.6 36802 2 
Spring Pre-Load Spacer 2mm 86050 2 
Spring Pre-Load Spacer 4mm 86050 2 
Spring Pre-Load Spacer 6mm 86050 2 

REAR SHOCK ASSEMBLY DESCRIPTION PART NUMBER QTY 
Rear Shock Body 86046S 2 
Rear Shock Cap 86046S 2 
Shock Mount Holder 86050 2 
Spring Holder Top 86050 2 
Shock Bladder 86049 2 
Spring Holder Bottom 86050 2 
Rear Shock Shaft 87126 2 
Shock End 86050 2 
Piston 86048 2 
Shock Seal Clip 87398 2 
Shock Seal Spacer 87398 4 
Shock Dust Cover 87018 2 
Rear Shock Spring 88097-1 2 
Ball 6.8rnm 30004 2 
O-Rinl! 3.4x2 87398 4 
Nylon Nut M2.6 39007 2 
Washer 2.7x6.5x0.6 36802 2 
Spring Pre-Load Spacer 2mm 86050 2 
Spring Pre-Load Spacer 4mm 86050 2 
Spring Pre-Load Spacer 6mm 86050 2 

https://www.campbelltownhobbies.com.au/front-shock-body-hyper-7
https://www.campbelltownhobbies.com.au/front-shock-body-hyper-7
https://www.campbelltownhobbies.com.au/front-shock-body-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-bladder-hyper-7
https://www.campbelltownhobbies.com.au/shock-bladder-hyper-7
https://www.campbelltownhobbies.com.au/front-shock-shaft
https://www.campbelltownhobbies.com.au/front-shock-shaft
https://www.campbelltownhobbies.com.au/shock-piston-hyper-7
https://www.campbelltownhobbies.com.au/shock-piston-hyper-7
https://www.campbelltownhobbies.com.au/shock-absorber-repair-set
https://www.campbelltownhobbies.com.au/shock-absorber-repair-set
https://www.campbelltownhobbies.com.au/shock-absorber-repair-set
https://www.campbelltownhobbies.com.au/shock-boots-spacers-10sc-ephyper-7
https://www.campbelltownhobbies.com.au/shock-boots-spacers-10sc-ephyper-7
https://www.campbelltownhobbies.com.au/front-shock-spring~37454
https://www.campbelltownhobbies.com.au/front-shock-spring~37454
https://www.campbelltownhobbies.com.au/shock-end-ball-6.8mm
https://www.campbelltownhobbies.com.au/shock-end-ball-6.8mm
https://www.campbelltownhobbies.com.au/shock-absorber-repair-set
https://www.campbelltownhobbies.com.au/nylon-nut-m2.5
https://www.campbelltownhobbies.com.au/washer-2.7x6.5x0.6
https://www.campbelltownhobbies.com.au/washer-2.7x6.5x0.6
https://www.campbelltownhobbies.com.au/nylon-nut-m2.5
https://www.campbelltownhobbies.com.au/shock-absorber-repair-set
https://www.campbelltownhobbies.com.au/rear-shock-body-hyper-7
https://www.campbelltownhobbies.com.au/rear-shock-body-hyper-7
https://www.campbelltownhobbies.com.au/rear-shock-body-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-nylon-set-hyper-7
https://www.campbelltownhobbies.com.au/shock-bladder-hyper-7
https://www.campbelltownhobbies.com.au/shock-bladder-hyper-7
https://www.campbelltownhobbies.com.au/rear-shock-shaft
https://www.campbelltownhobbies.com.au/rear-shock-shaft
https://www.campbelltownhobbies.com.au/shock-piston-hyper-7
https://www.campbelltownhobbies.com.au/shock-piston-hyper-7
https://www.campbelltownhobbies.com.au/shock-absorber-repair-set
https://www.campbelltownhobbies.com.au/shock-absorber-repair-set
https://www.campbelltownhobbies.com.au/shock-absorber-repair-set
https://www.campbelltownhobbies.com.au/shock-absorber-repair-set
https://www.campbelltownhobbies.com.au/shock-absorber-repair-set
https://www.campbelltownhobbies.com.au/shock-boots-spacers-10sc-ephyper-7
https://www.campbelltownhobbies.com.au/shock-boots-spacers-10sc-ephyper-7
https://www.campbelltownhobbies.com.au/rear-shock-spring
https://www.campbelltownhobbies.com.au/rear-shock-spring
https://www.campbelltownhobbies.com.au/shock-end-ball-6.8mm
https://www.campbelltownhobbies.com.au/shock-end-ball-6.8mm
https://www.campbelltownhobbies.com.au/nylon-nut-m2.5
https://www.campbelltownhobbies.com.au/nylon-nut-m2.5
https://www.campbelltownhobbies.com.au/washer-2.7x6.5x0.6
https://www.campbelltownhobbies.com.au/washer-2.7x6.5x0.6
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Pencil

MSned
Pencil



BATTERY BOX 

RADIO TRAY 

ASSEMBLY 

8

ITEM 
1 

2 

3 

4 

5 

6 

7 

8 

9 

10 

11 

12 

13 

14 

15 

16 

17 

18 

19 

20 

21 

22 

23 

24 

25 

26 

27 

28 

29 

30 

31 

32 

33 

34 

35 

36 

37 

38 

39 

40 

41 

42 

43 

44 

45 

ITEM 
1 

2 

3 

4 

5 

6 

7 

8 

9 

10 

11 

12 

13 

14 

15 

16 

17 

18 

19 

20 

21 

22 

23 

24 

25 

26 

27 

28 

29 

30 

31 

32 

33 

34 

35 

36 

37 

38 

39 

40 

41 

42 

43 

44 

45 

BATTERY BOX DESCRIPTION 
Battery Box 

Battery Box Lid 

Battery Box Side Lid 

Switch Cover - Blue 

Battery Box Dust Seal 

Pin 2.5x22.8 

B/H Screw M3x5 

B/H Screw lv13x8 

Phillios Screw M2x 10 

On/Off Switch 

Receiver Battery Holder 

2.4GHz Small Receiver 

RADIO TRAY ASSEMBLY DESCRIPTION 
Radio Tray 

Radio Tray Post 

Transponder Mount 

Servo Mounting Holder 

Rod Collar l.8x6x5 

Throttle Pivot A 

Throttle Pivot B 

Throttle Pivot Soacer 

Servo Hom A 

ServoHomB 

Servo Home 

Ball Collar 5.8mm 

Throttle Rod End 

Throttle Spring 3.6x0.4x27 

Threaded Servo Rod 01.8x60mm 

Servo Rod 01.8x64mm 

Set Screw M3x3 

Phillios Screw M2x8 

B/H Tao Screw M3x8 

B/H Screw M3x8 

B/H Screw M3x12 

F/H Screw M3x10 

F/H Screw M3xl 7 

Servo A 

Servo B 

PART NUMBER QTY 
87603 1 

87603 1 

87603 I 

84133 I 

87603 I 

87603 I 

33305 1 

33308 4 

35210 2 

SSW-GS I 

- I 

1 

PART NUMBER QTY 
87085B 1 

87086 3 

87089 1 

87088 4 

36803 4 

87091 2 

87092 1 

87092 1 

87604 1 

87604 1 

87092 1 

36804 2 

87091 1 

87091 1 

87091 1 

87092 2 

38303 6 

35208 2 

33308T 1 

33308 8 

33312 8 

31310 1 

31317 1 
- 1 
- 1 

https://www.campbelltownhobbies.com.au/battery-box-vs-gp
https://www.campbelltownhobbies.com.au/battery-box-vs-gp
https://www.campbelltownhobbies.com.au/battery-box-vs-gp
https://www.campbelltownhobbies.com.au/battery-box-vs-gp
https://www.campbelltownhobbies.com.au/battery-box-vs-gp
https://www.campbelltownhobbies.com.au/battery-box-vs-gp
https://www.campbelltownhobbies.com.au/battery-box-vs-gp
https://www.campbelltownhobbies.com.au/switch-cover-blue-hyper-7
https://www.campbelltownhobbies.com.au/switch-cover-blue-hyper-7
https://www.campbelltownhobbies.com.au/b-h-screw-m3x5
https://www.campbelltownhobbies.com.au/b-h-screw-m3x5
https://www.campbelltownhobbies.com.au/b-h-screw-m3x8
https://www.campbelltownhobbies.com.au/b-h-screw-m3x8
https://www.campbelltownhobbies.com.au/phillips-screw-m2x10
https://www.campbelltownhobbies.com.au/phillips-screw-m2x10
https://www.campbelltownhobbies.com.au/b-h-screw-m3x8
https://www.campbelltownhobbies.com.au/on-off-switch~38017
https://www.campbelltownhobbies.com.au/on-off-switch~38017
https://www.campbelltownhobbies.com.au/radio-tray-black
https://www.campbelltownhobbies.com.au/radio-tray-black
https://www.campbelltownhobbies.com.au/radio-tray-post
https://www.campbelltownhobbies.com.au/radio-tray-post
MSned
Highlight

https://www.campbelltownhobbies.com.au/servo-mounting-backplate
https://www.campbelltownhobbies.com.au/servo-mounting-backplate
https://www.campbelltownhobbies.com.au/servo-mounting-backplate
https://www.campbelltownhobbies.com.au/servo-rod-collar
https://www.campbelltownhobbies.com.au/servo-rod-collar
https://www.campbelltownhobbies.com.au/servo-rod-collar
https://www.campbelltownhobbies.com.au/servo-rod-collar
https://www.campbelltownhobbies.com.au/throttle-linkage-set
https://www.campbelltownhobbies.com.au/throttle-linkage-set
https://www.campbelltownhobbies.com.au/throttle-linkage-set
https://www.campbelltownhobbies.com.au/servo-rod-collar
https://www.campbelltownhobbies.com.au/brake-linkage-set
https://www.campbelltownhobbies.com.au/brake-linkage-set
https://www.campbelltownhobbies.com.au/brake-linkage-set
https://www.campbelltownhobbies.com.au/brake-linkage-set
https://www.campbelltownhobbies.com.au/brake-linkage-set
https://www.campbelltownhobbies.com.au/brake-linkage-set
https://www.campbelltownhobbies.com.au/brake-linkage-set
https://www.campbelltownhobbies.com.au/servo-horn~37376
https://www.campbelltownhobbies.com.au/servo-horn~37376
https://www.campbelltownhobbies.com.au/servo-horn~37376
https://www.campbelltownhobbies.com.au/end-ball-5.8mm
https://www.campbelltownhobbies.com.au/end-ball-5.8mm
https://www.campbelltownhobbies.com.au/throttle-linkage-set
https://www.campbelltownhobbies.com.au/throttle-linkage-set
https://www.campbelltownhobbies.com.au/throttle-linkage-set
https://www.campbelltownhobbies.com.au/throttle-linkage-set
https://www.campbelltownhobbies.com.au/m3x3-set-screw
https://www.campbelltownhobbies.com.au/m3x3-set-screw
https://www.campbelltownhobbies.com.au/m3x3-set-screw
https://www.campbelltownhobbies.com.au/m3x3-set-screw
https://www.campbelltownhobbies.com.au/m3x3-set-screw
https://www.campbelltownhobbies.com.au/m3x3-set-screw
https://www.campbelltownhobbies.com.au/m3x3-set-screw
https://www.campbelltownhobbies.com.au/phillips-screw-m2x8
https://www.campbelltownhobbies.com.au/phillips-screw-m2x8
https://www.campbelltownhobbies.com.au/hex-socket-button-head-tp-screws-3-8mm
https://www.campbelltownhobbies.com.au/hex-socket-button-head-tp-screws-3-8mm
https://www.campbelltownhobbies.com.au/b-h-screw-m3x12
https://www.campbelltownhobbies.com.au/b-h-screw-m3x12
https://www.campbelltownhobbies.com.au/b-h-screw-m3x12
https://www.campbelltownhobbies.com.au/m3x10-button-head-screw
https://www.campbelltownhobbies.com.au/b-h-screw-m3x8
https://www.campbelltownhobbies.com.au/b-h-screw-m3x8
https://www.campbelltownhobbies.com.au/b-h-screw-m3x8
https://www.campbelltownhobbies.com.au/b-h-screw-m3x8
https://www.campbelltownhobbies.com.au/m3x10-button-head-screw
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Pencil



ITEM CHASSIS ASSEMBLY DESCRIPTION PART NUMBER QTY ITEM ACCESSORY DESCRIPTION PART NUMBER QTY 
1 Chassis 87066 I - Transmitter (RTR Onlv) I 

2 Bodv(Black or \Vhite) 87605 or 87605W I - Instruction Manual M7-2012 I 

3 Muffler Wire 87082-1 I - Hobao Decal HB-D2 1 

4 Side Guard Left 87073B I - Body Decal TQ-Dl I 

5 Side Guard Right 87073B I - Antenna Tube 87613 1 

6 Center Front Drive Shaft 4.5x90mm 87067 I - Body Clio 87375 2 

7 Center Rear Drive Shaft 4.5x 101 mm 87067 I - Fuel Bottle (RTR Only) 87102 I 

8 Pin 3x 12.8 87067 4 - Socket Wrentch - I 

9 Muffler Wire Mount 87082 I - Allen Wrentch 1.5mm - 1 

10 Fuel Line l 87078 I - Allen Wrentch 2.0mm - I 

11 Fuel Line 3 87078 I - Allen Wrentch 2.5mm - 1 

12 Fuel Line 2 87078 I - Allen Wrentch 3.0mm - I 

13 Set Screw M4x4 38404 2 - Differential Oil l0OOWT (Kit Onlv) HB-1000 I 

14 B/H Screw M3x8 33308 I - Differential Oil 3000WT (Kit Onlv) HB-3000 I 

15 F/H Screw M3x10 31310 15 - Differential Oil 5000WT (Kit Only) HB-5000 I 

16 F/H Screw M3x 15 31315 2 - Grease (Kit Only) - I 

17 F/H Screw M4x l0  31410 11 - Thread Lock (Kit Only) - I 

18 F/H Screw M4x14 31414 8 - Container Box Top - 1 

19 Fuel Line Clio 87606 2 - Container Box - 1 

20 

21 

22 

23 

24 

25 

26 

27 

28 

29 

30 

31 

32 

33 

34 

35 

36 

37 

38 

39 

40 

41 

42 

43 

44 

45 
 

CHASSIS AND BODY 

9 

https://www.campbelltownhobbies.com.au/chassis-hyper-7
https://www.campbelltownhobbies.com.au/chassis-hyper-7
https://www.campbelltownhobbies.com.au/painted-body-blue-tq
https://www.campbelltownhobbies.com.au/painted-body-grey-tq
MSned
Pencil

MSned
Typewritten Text
(Blue or Grey)

https://www.campbelltownhobbies.com.au/muffler-wire
https://www.campbelltownhobbies.com.au/side-guard-black-hyper-7
https://www.campbelltownhobbies.com.au/side-guard-black-hyper-7
https://www.campbelltownhobbies.com.au/side-guard-black-hyper-7
https://www.campbelltownhobbies.com.au/muffler-wire
https://www.campbelltownhobbies.com.au/centre-drive-shaft-set-hyper-7
https://www.campbelltownhobbies.com.au/centre-drive-shaft-set-hyper-7
https://www.campbelltownhobbies.com.au/centre-drive-shaft-set-hyper-7
https://www.campbelltownhobbies.com.au/centre-drive-shaft-set-hyper-7
https://www.campbelltownhobbies.com.au/centre-drive-shaft-set-hyper-7
https://www.campbelltownhobbies.com.au/muffler-wire-mount
https://www.campbelltownhobbies.com.au/muffler-wire-mount
https://www.campbelltownhobbies.com.au/fuel-line-hyper-7
https://www.campbelltownhobbies.com.au/fuel-line-hyper-7
https://www.campbelltownhobbies.com.au/fuel-line-hyper-7
https://www.campbelltownhobbies.com.au/fuel-line-hyper-7
https://www.campbelltownhobbies.com.au/set-screw-m4x4
https://www.campbelltownhobbies.com.au/set-screw-m4x4
https://www.campbelltownhobbies.com.au/b-h-screw-m3x8
https://www.campbelltownhobbies.com.au/b-h-screw-m3x8
https://www.campbelltownhobbies.com.au/f-h-screw-m3x10
https://www.campbelltownhobbies.com.au/f-h-screw-m3x10
https://www.campbelltownhobbies.com.au/f-h-screw-m3x10
https://www.campbelltownhobbies.com.au/f-h-screw-m3x10
https://www.campbelltownhobbies.com.au/f-h-screw-m3x10
https://www.campbelltownhobbies.com.au/f-h-screw-m3x10
https://www.campbelltownhobbies.com.au/f-h-screw-m3x15
https://www.campbelltownhobbies.com.au/f-h-screw-m3x15
https://www.campbelltownhobbies.com.au/f-h-screw-m3x15
https://www.campbelltownhobbies.com.au/f-h-screw-m4x10
https://www.campbelltownhobbies.com.au/f-h-screw-m4x10
https://www.campbelltownhobbies.com.au/f-h-screw-m4x10
https://www.campbelltownhobbies.com.au/f-h-screw-m4x10
https://www.campbelltownhobbies.com.au/f-h-screw-m4x10
https://www.campbelltownhobbies.com.au/f-h-screw-m4x14
https://www.campbelltownhobbies.com.au/f-h-screw-m4x14
https://www.campbelltownhobbies.com.au/f-h-screw-m4x14
https://www.campbelltownhobbies.com.au/fuel-line-clip
https://www.campbelltownhobbies.com.au/fuel-line-clip
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Pencil


	Blank Page



